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INTERNATIONAL BUSINESS
Paper : MCOM-07

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What do you mean by International Business

Environment ?
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What is the basis of international trade

according to Recardian theory ?
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(iii) What are the fwo important demerits of

(iv)

v)

(vi)

globalization ?
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Mention two key characteristics of Multi-
National Corporations (MNCs).
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Define terms of trade.
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Which international financial institution is
said to be a ‘Soft Loan Window’ of the world

bank ?
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(vii) What do you mean by Documentary Credit ?
O WE ¥ o9 o GHE § 2

(viii)) Which commodities in India’s imports

constitute highest weightage ?
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Section-B 4%x8=32
(Short Answer Type Questions)
Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 8 marks.
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. Why international business is a boon to the world

economy ? Explain.
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. Distinguish between the Balance of Trade (BOT)

and Balance of Payments (BOPs).
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. Discuss in brief the factors influencing the terms

of trade.
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. Why World Trade Organisation (WTO) was

established ? What are its functions ?
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. Throw light on the main characteristics of India’s

foreign trade.
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. Write a critical note on Special Economic Zones

(SEZs).
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. Mention with logic the merits of Multi-National

Corporations (MNCs).
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. Throw light on the difficulties in the way of

technology transfer from developed to developing

countries.
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Section—-C 2x16=32
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 16 marks.
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10. Why disequilibrium in Balance of Payments
(BOPs) arises 7 What measures be adopted to

correct the disequilibrium ?
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11. What arguments would you advance in favour and

against free trade policy ?
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12. Examine critically the Heckscher-Ohlin theory of

international trade.
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13. “Globalization has been a mixed blessing.”

Flucidate this statement.
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